EM375 SURVEY LAB

The horizontal distance, d, between two remote survey stations identified as S1
and S2 can be measured with a theodolite. The calculation is:

_ 2 2
d= \/Xs1 + Xsp - 2X31xsz cos (QSz - q$1)

Where xg,and X, are the distances from the theodolite to stations S1 and S2

respectively, and qg, and g, are the horizontal angles between an arbitrary direction and
the stations.

The uncertainties for the instrument you are using are:
Wy =0.025 ft

Wgq =20 secondsof arc

MEASURE AND RECORD:

Distance from theodolite to S1 ft

Angle from arbitrary direction to S1

Distance from theodolite to S2 ft

Angle from arbitrary direction to S2

CALCULATE:

Distance between stations ft
Uncertainty in the distance ft
SUBMIT:

No report isrequired for thislab



